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=1 foRiur RAK U663 350 3 SIS GgFq0 TEnRr=AT 3 F Hde Jufed Hodl.

Answer the question no. 1 to 5 after reading the passage carefully.

All his life, Gandhiji kept the abolition of untouchability at the forefront of his public activitics. In
1932, he founded the All India Harijan Sangh for this purpose. His campaign for the “root and branch
removal of untouchability” was based on the grounds of humanism and reason. He argued that there
was no sanction for untouchability in the Hindu shastras. But, if any shastra approved of untouchability,
it should be ignored for it would then be going against human dignity. Truth, he said, could not be
confined within the covers of a book.

Since the middle of the nineteenth century, numerous individuals and organisations worked to
spread education among the untouchables (or depressed classes and Scheduled Castes, as they came to
be called later), to open the doors of schools and temples to them, to enable them to use public wells and
tanks, and to remove other social disabilities and distinctions from which they suffered.

As education and awakening spread, the lower castes themselves began to stir. They became conscious
of their basic human rights and began to rise in defence of these rights. They gradually built up a powerful
movement against the traditional oppression by the higher castes. In Maharashtra, in the second half of the
nineteenth century, Jyotiba Phule, born in a lower-caste family, led a lifelong movement against Brahmanical
religious authority as part of his struggle against upper-caste domination. He regarded modern education as
the most important weapon for the liberation of the lower castes. He was the first to open
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several schools for girls of the lower castes. Dr. Bhimrao Ramji Ambedkar, who belonged to one of the
Scheduled Castes, devoted his entire life to fighting against caste tyrarmy. He organised the All India
Scheduled Castes Federation for the purpose. Maharshi Vitthal Ramji Shinde and his colleagues founded
the All India Depressed Classes Mission Society. In Kerala, Sri Narayvan Guru organised a lifelong
struggle against the caste system. He coined the famous slogan: “One religion, one caste and one God
for mankind.” In South India, the non-brahmins organised during the 1920s the Self-Respect Movement
to fight the disabilities which Brahmins had imposed upon them. Numerous satvagraha movements
were organised all over India jointly by the upper and depressed castes against the ban on the latter’s
entry into temples and other such restrictions.

(a) Sl AR SEHT
(b) TeHl =S hvE hd
(c)  ArTEm &

(d)  wETeHT el

watEr 39T

(1) T (a), (b) S () (2) W (a), (b) B ()
(3) W (a), () M7 (d) (@) =de o

According to the passage, who among the following tried to eradicate untouchability ?
{a) Dr. Babasaheb Ambedkar

(b)  Maharshi Dhondo Keshav Karve

(c) Narayan Guru

(d) Mahatma Gandhi

Answer options :

(1)  Only (a), (b) and (c) (2)  Only (a), (b) and (d)

(3)  Only (a), (c) and (d) (4)  All of above

2. ' QEIeRTST SEONG Wed T SfGE R Ad @, A T et s aAfata e ?
(1) T fasa 2.

(2) &R T TE
(3) T WEEY YTl "t fand.
(4) PTG Ho TGN JRFRTLd qaifad T,

What would Gandhiji mean when he said that "Truth cannot be confined within the covers of a
book’ ?

(1) Truth always prevails.

(2)  There is no truth in a book.

{3)  Truth can be seen only outside a book.

(4) No truth is lIimited to the confines of a book.
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3. ifaeudeden fody mUE ' HHe SEel e, T S S T TEE g SO v e 2

(1)  wewem e (2) BL. TR HAldSH

(3) R g (4) 4 TUET TR

Who announced ‘one religion, one caste and one God for Mankind’, in opposition to the caste
System 7

(1)  Mahatma Gandhi (2)  Dr. Babasaheb Ambedkar

(3)  Mahatma Phule (4)  Shri Narayan Guru

4. TEPvEdl FrEROTS fHaE ST M gEiertish! Siven Meian 9aid S0 Hewnd T ?
(1) &= O (2) WAFEt gids
(3 fag® (4) THFehs faar

Which of the following was given the least importance by Gandhiji in his thoughts about removal
of untouchability ?

(1)  Sanction of shastras (2)  Human Dignity

(3)  Reason (4) Humanism

5. T 3AFAIER 399 A WO foeg dode 3 FUIEt Sl T STEva 3T 2

(a) Torm (b) WM TFRIA 9H
(c) TS Jerwr T (d) ST A
TafEt 39

(1) () 30 (b) (2)  (a), () SO() (3) (b), () HOUD) (4) (o) ()

What according to the passage are the prerequisites of a movement against oppression by higher

castes 7
(a) Education (b) Awareness of human rights
{c) Opening of temples (d) Sanction of the Shastras

Answer options :

1) @and(® ) @ @and@d () G)(and(d @) () and(d
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TEATH TS TS|, Het Tehd e <Y1id Tardehs & HeluT w1 famhfaar=ar armeiers wen-1 foe diears=n
ZeRTyl e ST R feen e diigwal 9 vigam At Gl saaeen e TR $aEE AT S TR,
YRATEA &AM R AWR AR ] SIe Sumdel A § TaiusHel Teie 3 TWE ST
HAEYIH T AT Hiad FLOATH A Q. U A Fe SUNITE] Foaeh]0 271 =rerond Awgl.

e weg TAFEE A0 3T I AT I AATFH A giHes e heead== el qiEst 5
T WASTR A0 qATa T vIved 279 et Hener J ad= faon sromdl, vrdr ety Todq qeides™
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Read the following passage and answer the questions 6 to 10.

Innovation will play a very important role in India not only for averall growth and competitive
advantage but also for the future development of India to be sustainable and inclusive. In our country,
there is a lack of demand in the most important sectors such as health, education, agriculture, energy
and skills. There are many challenges in this country in terms of population as well. For example,
55 crores population is of age group of less than 25 years, it is necessary to provide opportunities to
them. For that, there is a challenge of growth and development of disparity in various aspects such as
class, caste, gender, region and at the same time, there is an urgent need to bring millions of citizens
trapped in extreme poverty above to poverty line.

Innovations is the answer of the pressing challenges and is at the heart of all initiatives. When the
knowledge based economy is created, the opportunity structure for the distribution of the benefits
generated from it is also created through such innovation. Affordable solutions in coramon sense
innovative business models or processes make it easier for common citizens to access services and more
people participate in the development pracess by going beyond the traditional way of working.
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However, our only need is to explore new paradigms of innovation with an emphasis on affordable
and inclusive growth for the masses and lifting the low-income people at the bottom of the triangle out
of poverty and deprivation.

The unfortunate thing is that in the past several decades, innovation and research have given
priority to the demands of the developed, and more emphasis has been placed on fulfilling the wishes of
the rich, and the entire system of intellectuals and capital is being used to satisty them. India will not be
able to accept this path rather than the research in our country and innovations need to focus on the
poor and the urgent needs of poor people. The traditional old consumption approach will no longer
work.

Given our huge population and immensity, our innovation should use scarce resources sparingly
and our research and innovations should be affordable and environmentally sustainable, the work of
India’s National Innovation Corporation reflects this philosophy. He strives to develop an image of
innovation created by the people - for the people - of the people for a development India. Only through
such an inclusive approach where people are the beneficiaries of knowledge creation can we create
images of sustainable development.

6. TIAIH! FHIUE fauT dre oA ?
(a)  fam Fern AT TorehTe TTE vIshd AEL
(by I wed ST o weey e,
Tt 3y |
(1) = (a) (2) e (b) (3) IRl AR 4) T (@) F (0)

Which of the following statement is correct ?
(a)  Without innovation we cannot achieve development.
(b)  Till now India’s development was not comprehensive.

Answer options .

(1) Only (a) (2)  Only (b) (3) None (4)  Both (a) and (b)

7. QRIS FE EEE qeg #AE 2
(a) Yy fasemit sravr TET F AepEETE @4 higd e g9,
(b)  HH FHA AUl I 0 THE hell g,
Tt 39T
(1) & (a) (2) W (b) (3) BRI &l 4) (a) T (b) T
Which of the following statement is correct ?
(a) For holistic development we should focus on poverty and population.

(b) We should try to produce more from less.

Answer options :
(1)  Only (a) (2)  Only (b) (3) None (4) Both (a) and (b)
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8. Teia &I faums @y amg/q?
(a) ST TG IV FHejes YSReIed U= TN JRIae.
(b) T YT TIRTETAT HISe ATIE TaieR = % e,
Tt I
(1) H (a) (2) W= (b) (3) IR (4)  (a) @ (b) BRI
Which of the following statement is/are correct ?
{a) So far we have covered only to the needs of advanced Nations.
(b)  Our current development model has degraded our environment.

Answer options :
(1)  Only (a) (2)  Only (b) (3) None (4) Both (a) and (b}

9.  YRAW BV TorH1ETa] FEHH FEE= TS FR
) UNE U FITIHH <9 A F A TSI 797 TS,
2)  HE AAHEA TS TS 50% WL I W el
) WG ShEET T HIE] 3T 9 SgAie e oAl el S
4)  TE AhEEIT HHY 3UTS FHEA <0 SAEwE T,
Skill development program is important in India because :
(1) India is an agrarian country and there is lack of supply.
2)  Almost 50 percent of the national income is derived from the service sector.

(
(3) India has a very large population and most of them live below the poverty line.
(

4)  There is a need to create opportunities among the young population.

10. YSIerie HoR faum gem o ?
(a) ST W 9O AaWES YL Te T T,
(b) RIS WIS STV SIveld fahTd T W,
qIET 3
(1) T (a) (2) e (b) (3)  HIRE A 4 T (A b)
Which of the following statement is incorrect ?

(a)  So far we have not paid enough attention to innovation.

(b}  Only with People’s participation can we achieve sustainable development.
Answer options :

(1)  Only (a) {2) Only (b) (3)  None (4) Both (a) and (b)
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Read the following passage and answer the question no. 11 to 15.

Since Economic preduction is the basic activity of a human aggregate, the mode of production
(productive forces and social relations of production) plays a determining role in shaping the social
structure, the psychology and the ideology of that human aggregate.

Rural society is based predominantly on agriculture. Village agriculture is sharply distinguished
from urban industry by the fact that it 1s based on direct extraction from Nature by man.

Land is the basic means of production in the countryside. Land is a part of Nature, though made
arable by human labour. From land, the rural people produce by means of technique and their labour
power, such a variety of agrarian products as food, cotton, jute, tea, coffee, tobacco, and others.

Urban industry only transforms the products of agriculture into industrial products. In city factories
and mills, such agricultural products as cotton, jute and sugarcane are transformed into cotton and jute
w=loth and sugar respectively.

This basic difference between agriculture and industry plays a significant role in shaping the social
institutions, the psychology and the ideclogy of the rural and urban populations.

Further, the level of production and the way in which the products are distributed among the
different strata of a society, determine the level of the material prosperity of the society as a whole and of
the various socio-economic groups comprising it. They also, to a very large extent, mould the institutional
set up of that society as well as the cultural life of its people.

For instance, in India, the primitive nature of agriculture, the resultant low level of agricultural
production and the specific types of land relations which determine the differing shares of agricultural
products among the social groups composing the rural society, explain the general poverty of the rural
people, their hierarchic gradation into a pyramidal system of socic-economic groups and, further, their
distinct social institutions and cultural backwardness. They also largely fix their customs, conceptions,
and social mores.
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11.  @TATeTdsh! HIvAT/ IR Heeh IeeAT=A Tgarges wuifad g1/ 2ard ?

(a) Ta=amum (b) HAHITER
(c) ErieE FrE (d) =TGR! Ua! TR
Tt 39T

(1) (@), (o) &7 () (2) (a) T (c) (3) (o ¥ (d) (4) ()

Which of the following factor(s) is/are affected by the mode of Production ?
(@) Ideology {b) Psychology
(c)  Social Structure {(d) None of the above

Answer options :

(1) (a), (b) and (¢) (2) (a) and (c) 3)  (c) and (d) (4)  Only (d)

12, HIEwRTE o Sqfen = Jrfon GuTsTeR e giomd g ?
(a) THRIET 9T L
(b) ot I AE B
() TR Wigiasw fafawar 49,
(dy == g fitfres wmTfser-aTiis yoneme g,

Tt I
(1) (a) 370 (b) SR (2)  HH (¢) T
(3) e (d) S (4)  (a), (b) T (c) AT

How does the premitive nature of agriculture in India affect rural society ?

(a

)
{b) It increases agricultural production.
)

(c

(d) It result in a pyramidal socio-economic system.

It eliminates poverty.

It leads to cultural diversity.

Answer options :

(1) (a) and (b) are true (2}  Only (c) is true
(3)  Only (d) is true (4) (a), (b) and (c) are true
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13, {RARTS UTHT Sliehman JiH=T STEse Wieleeh] ®ivE 92 AT drer <q) ?

(1) F s = et
(2) TRl wmEeTn

(3) A o A9

(4)  esin

What factor contribute to the general poverty of rural people in India ?

(1) Low level of Agricultural Production
(2)  Cultural backwardness

(3)  Lack of access to heathcare

{(4)  Lazincss

14, TTHI TSN fTEE A Wieieyeht w10/ EoE faeE, faas e am/a?

(a)  TITIUT WA B U Irare STuiia ST,

(by  TTHIT ST FEHA F ST He [E AT

(c)  THTY SFIETS SeTredl HIe YIE e ST AT,

T 34y
- (1) (), (b) 37 () (2) {a) ST (b)

(3)

™ ()

(4) ST FIOET TR

Considering the rural society which of the following statement/s is/are false ?

(a)  Rural Society is based predominantly on agriculture.

(b)y  Land is the basic means of production in the countryside.

(€©)  Means of production in rural areas are not different from urban areas.

Answer options :
(1) (@), (byand (¢) (2) (a)and (b)

BTl BIHTATS W/ SPACE FOR ROUGH WORK
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15. T e e et snfor deeat SR R qAR I 2

(a) SR o (b)  Fl e (©) 9 =

I 3

(D (@ AE) (2 (@) ) AT (F) (@) A () (D)

What do rural people produce by means of their labour power and technigue ?

(a) Industrial goods (b)  Agrarian products  (¢)  Metal products

Answer options :

(1)  (a) and (b) (2) (a), (b)and (¢} (3) (&) and (¢} (4)  Only (b)

Geiel 3aTT argA wdrel 3Meia W. &, 16 @ 20 A=l I7¢ &0 :

ST W19 VINE g, sHtaiene g wfaett viran. 21 emman fAdmesrean weain e Ha 9% i, fqsd e
T ? Y WIS 1 2 oD AT 319 i ? O are faveny fohan g sav=n favar A g, fae
A &9 & U IR THeed, HHces Freme € o Ang A it w1 ST ST gnaT JehTsl Sk o
T IR HI. e T SrEreTs S0 wem (A gn dia s fama A, et (e
fiaren wed = TrErSt Eie A ® 2 WU STIE Aide i 81 UF HieT 7o &8, saaeiiier s faha
fafbre Hymemer 37eTdd Hed A faeh dea@ § SATIedTe Al Sfierd S 37 e = 9o el uF

R HYA U SYANTE T Vehd, AMGE® Advmegiad sifas fdtone v s e aeeors g -

3. warme vree fifa Fremi=a e erdeft ! AT fdhel AEE S, SRR FIa JN aesE A
TR HesTad SN shuararat fohal STAmTE SRS AR AT Tes S 3N ae #ded TR en
HEYIF . B ZieHhA ATeTeN Aqiiis STl Fie T4 se 4. it aRered S Fdr 99T
FE ATG T AT UHA A e S aH S e Tod. amed aRfdigen cr fEad e e
ATRITO S|TE A= 319 Bl
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Read the following passage and answer the questions from 16 - 20 :

Moral philosophy is the branch of philosophy that contemplates what is right and wrong. It
explores the nature of morality and examines how people should live their lives in relation to others.
Moral philosophy has three branches - one branch is metaethics investigates big picture questions such
as “What is morality” ? “What is Justice ?” “Is there truth ?” and “How can [ justify my beliefs as better
than conflicting beliefs held by others ?” Another branch of moral philosophy is normative ethics. 1t
answers the question of whal we ought to do. Normative ethics focuses on providing a framework for
deciding what is right and wrong. Three common frameworks are deontology, utilitarianism and virtue
ethics. The last branch is applied ethics, Tt addresses specific, practical issues of moral importance such
as war and capital punishment. Applied ethics also talks specific moral challenges that people face
daily, such as whether they should lie to help a friend or coworker. So, whether our moral focus is big
picture questions a practical framework or applied to specific dilemmas, moral philosophy can provide
the tools we nced to examine and live an ethical life. Among the normative ethics deontology is an
ethical theory that uses rules to discern the moral course of action. This theory uses rules to distinguish
right from wrong. Immanuel Kant, the philosopher, believed that ethical actions follow universal moral
laws, such as “Don’t lie”, “Don’t Steal”, “Don’t Cheat.” Deontology is simple to apply. It just requires
that people follow the rules and do their duty. This approach tends to fit well with our natural intuition
about what is or is not ethical. Unlike consequentialism, which judges actions by their results, deontology
does not require weighing the costs and benefits of a situation. This avoids subjectivity and uncertainty
because vou only have to [ollow set rules. So following the rules makes deontology easy to apply. But it
also means disregarding the possible consequences of our actions when determing what is right and
what is wrong.

16. 379l TR qAyd SO |/

(1y A =for e (2) 7 0 e

(3) A M TE (4) T st Cfaeriaes
Explain the basic structure of normative ethics.

(1)  right and wrong (2)  wvalid and invalid

(3)  true and false (4)  modern and historical

17.  afveres Sfaes Famiet wm gfsm o ?
(1)  TATRIE Tehl (2) TEOH E1S ARl (3) R el (4) T TH
What is the role of Universal moral laws 7

(1)  Don’t accept (2)  Don't agree (3)  Don’t cheat (4) Don't get angry

Fee] BIHTAIS! Tl / SPACE FOR ROUGH WORK P.T.O.



X18 14 A
18. Jfaso=i qegadt Herew s oA ?

(1) A 6w e foen oifgs,
(2) @i FHY EeE w@Een e
(3) AT i S FY ST e,

(4) TR Saiel FON G el e,

What is the Central idea of morality ?

(1}  How people should react

(2) How people should agitate

(3)  How people should live their lives

(4)  How people should compare with others

19. A9 FEOErS Wy Hm.

(1) =@ &I qfes. (2) T FH (IHTA FEEn qiEs.
(3) = HHFA Hde TiEs, (4) HA FH FHIH =1

Bring out the nature of normative ethics.

(1) What it ought to do (2)  How to develop ourself

(3)  How to understand (4)  How to know the truth

20. A A fafay wsr |,
(1) WA dede, TR g, fesres
(3) il awEam, T, A T
(4)  TEE TS, FYHF aHME, FRdE T
State the different types of moral philosophy.
(1) Indian Philosophy, Philosophy of logic, ethics
(2)  Meta ethics, normative ethics, applied cthics
(3)  Philosophy of Science, Jogic, Social Philosophy
{4y Western Philosophy, Modern Philosophy, Formal logic

FHUAT uftese aren T @rEdie U9 21 | 25 = 3T
AT a2d. o 3] Teran Yof=n 3afea FRrmicamigy wermi=n JaeHEy AerfiE smed. 1917 992 se~r
STON IAIToTa TeRToiiear = vreRrdl e, 1952 T8, 9,080, AHlE ©.203, 3. TEd, 07 U=.50 S0 JuauHr
Tt U, Fe A U, e A SHitad euyE=n Geeue S e Sied P i argaea
T TSAAT GAFAA. I THOMH WU 1954 W MASER (R Teee S{Pal v 9@ [FrEes e SiF
feuym) =1 vy W, 1958 T 2, ATEEE S URGRIE A A1 A e HrErEl Siee i
Frearet.

1960 e, gew e sfarzisr=a fuaArer Jma =0 oefeliwT 2 &6l fhiza i o3 =iE wr
YA FIEA Gfgel TR q4N Rl e ST e sy A araEd §6 asiedwd U wed, 25y, 92
amfo . Efeme @ 1961 74 ufed 78 o faswtaa 9 2
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sfrosmrargs & Wsomaes fafay & TR ¥ TE dieda s Ed a9 S8, SRl 8 W ' S W
I W ThTY BAeq G e SR, AT 3L Feh19 Hia AT YA TG ST e TS et S e,
TIER T Teh R WohT¥l Sa(e Jueteel SHetedl 378 aiaRal Joitee 3= fawiensh s sea-«ierd=
(&) TN FAAE. e fHon () Tost TRe e seagmried o (J9) UM d SAiHe gHmid s
ST, TS S e oot (simen) e fave feet fae = ame w1 wefiga foo svamiet snfon o s,
TR, 3. 30ET el L. H=ad Tg AT WIS SR Juiterg F, 3iosd s anie
0 fn TR T (FM) W T IEA UM HH HO seTerel THE g ST U, S € T Se-
FATH YT 3TE = SIS STEATEL 37 Tehil THum L.

Read the following passage and answer the questions from 21 to 25 :

The word laser is an acronym for Light Amplification by Stimulated Emission of Radiation. Lasers
are in fact generators of light. They are based on the amplification of light by means of stimulated
radiation of atoms or molecules. In 1917 Einstein predicted the possibility of such stimulated radiation.
In 1952, Ch. Townes, ].Gorden, and H.Zeiger in U.S.A and N.Basov and A .Prokhorov in USSR,
independently suggested the principle of generating and amplifying microwave oscillations based on
the concept of stimulated radiation. It lead to the invention of MASER (Microwave Amplification by
Stimulated Emission of Radiation) in 1954. In 1958 Townes, Basov, and Prokhorov received Noble
Prizes for their work in this field. :

[n 1960, Theodore Maiman of Hughes Research Laboratories produced the first laser using a ruby
crystal as the amplifier and a flashlamp as the energy source. The first gas laser was developed in 1961
by A, Javan, W. Bennet, and H. Harriott of Bell Laboratories, using a mixture of helium and neon gases.

Laser has become a valuable tool in a variety of fields starting with medicine to communications.
Laser is a light source but it is very much different from many traditional light sources. Laser is not used
for illumination purposes as we use other light sources. Lasers produce a highly directional and high-
intensity beam with a narrow frequency range than that available from the common source types of
light sources. They are more widely used as a light power electromagnetic beam rather than a light
beam. Laser beams are used in the mechanical industry such as a special type of drill bit to drill in hard
materials, and cutting materials like wood, glass, ceramics, etc. The laser is also used in the clectronics
industry such as scribing, soldering, trimming photolithography, etc. Application of lasers in the military
involves mainly ranging, guiding weapons to the intended target and laser beam itself acting as a weapon,
and so on. Thus, the laser is a high-technology device affecting our lives in many ways.

21, TRR T A fEHa1 W] A A AR 7
(1) wrRr 1) e 1 foere a2 1.
(2) ©ER IAiva R WenTe=dl JaeTer s s,
(3) IR Yanain fafmietonay anenfia aTRa.
(4) SUATH! ATEL
What is the relation between laser and atoms or molecules ?
(1)  Laser did not emit without atom or molecule.
(2) Laser is based on the amplification of light by means of stimulated radiation of atoms or
molecules.

{3) Laser is based on microwave radiation.
(4) None of above
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22, R T Syl Sraten S A 7

(1) wEAEE (2) B wUEEE

(3) = wUH (4) e Hruee 9% TEvTEEt

Laser beam is not used for which of the followings ?

(1) [Humination (2) Cutting of glass

(3)  As a weapon (4)  For drilling holes in thick materials

23. TR B | YR il S 3w _
(1) T =3 Hicwl S1Ev S7R. (2) o I SRERAl FUi A,

(3) @ 3= fowm uRw =%, (4) TS Td A e,

Laser is different than the common light sources because o

(1)  Itis high infensity beam. (2) It has narrow frequency range.
(3)  Itis highly directional beam. (4)  All of the above are correct.

24, R fHTomHE el Ae g fheen o ?

(1) e s grares (2) HRAERA

(3) e, S, e (4) U= AR T T FW
Who got noble prize for Laser ?

(1) Basov and Prokhorov {2)  Einstein

(3)  Townes, J. Gorden (4) H. Harriott and H. Zeiger

25. wigen 9 we’ Sl fasaa we ?

(1) TAFWN

(2) U UEeE

(3) W HEA, Ty, o2 T T, AR
(4) SH A

Who developed first gas Laser ?
(1} H. Zeiger

(2)  A. Prokhorov
(3)  A.Javan, W. Bennet and H. Harriott
(4) Townes Basov
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TTeAleT AT AT W9 7. 26 0 30 AW A AT:

o] el ARG BAHH Fecliqe Jel= A@d aH, BiTgel, diar HGenN FTHiaRs, AHHlo 3
sfrafia feama 3 gohles e T2l HdsifHa AT Ay du9e 39a T8 3176 yaiauuiy gy g
TN SvEedl S 3T

1 FAHA FEAHeS BRIl 2T SEAIes AHAHR SN, T, d orfas weden e faol
oA e faandyT FTvam 8 2 SUAE 9T e AR, 8 aRdafasaed g seedes geuit fada

T HAgTw 3 H Swifaek qvEH Fareiet fafay 3ia e sewitel stidmeaEe 9 aon IEmgh Aaradt
Tl ATt SefSid S/ hehed] SR e+ SHsTauEe TgedH IR 2= TaTHM Saaies gom
HFATIIS IS 3T,

1ot Fafis a9 9 TererRigt areidia S~ SEaEe Fo WG sttt/ sSfimfed e st
ST, (TR WA Wivedl S 3T). ey Sien/HadE O STddre @ Hewr= | adis e
AHTHId ATl TaTEYes T YONCHgR HIsH Jeaanior/ AMIE/ FOmr= ool TeaEeiet 3.

fofay yerdi=n stafe 3 sTamaide d9ay 3 fafire yafaia aiiftedeh aeum Tew wwikge T=ftis
A fawfaa 2 swam.  enfon 3fta 8 S 21 e vafavaTEl/ sereid stumarHl et fien
e 3THA (YU HReErE F1E S 3THaR ), aHE sfesH i g1 w9 SHar.  aurdt 373
T/ ST T ST ea T | e Sa SR THIvhd GorergE| A ST, ST Tt
FAUT ST 3R H TG (T AW AR S Hade SiTeare Hes Wreed detett T

oftfeydia ety 318 Aa Wedid i, i aidr AT / et wt fe dveis arawE g5me Eom

IOy TR STl eey] Woell 3% W, awnfa J9fis s &= s (unique) ffar 3as
IMEHTAUHN (Zonation Pattern) I fohal JAessiifa ®ivl TaHE HR] 34T SEhiE]/ TH@u ST
38 .

feoeifaas = oM si= sterer/ e ey fafay Afee geri=n = Svard SR ST 9aEe
oy HT & e VSAERE TN SHEd S S ATTdeh rdH JIE = Wehteen S fhesd
MM TEue WIS 9 HROEhd JERIIY § SHAHT IHRHAT WIS Sard I SRt Sfaes aI9mH geie
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Read the following passage and answer the questions no. 26 to 30 :

For the past few centuries Earth has been witnessing several environmental problems even-though
the ongoing climate change events such as increasing temperature, cloud bursts, frequent cyclones, long
and irregular winters and drought have received more attention in the public platforms.

These extreme climatic events have challenged the physical, mental and economic health of humans
and made them to think and speak out. This realisation has been following by several agencies making
efforts to mitigate the climate change impacts.

It s known that global warming is the result of the incessant release of greenhouse gases especially
carbon dioxide (CO,) from several sectors especially from automobile and associated industries triggering
the extreme climatic events.

Earlier the natural forests cover and oceans absorbed the enormous quantities of CO, released in
the environment. However, continuous deforestation and other anthropogenic pressures prevailing in
and around the ocean and forest have slowed down the carbon sequesfration potential of these systems.

Natural forests evolve due to the constant interplay of inter and intra species alongwith unique e
environmental conditions and play an important role in mitigating the greenhouse gases to a large
extent, also acting as oxygen factories. However, in comparison, tropical and savannah forests produce
a more oxygen than other forests.

Studies have established that the natural regeneration potential of the forest has been decreasing
due to continuous deforestation.

Ecologists opine that the restoration of natural forests is the ideal way to overcome the global
warming impacts. However, restoration of natural forest is a herculean task and almost impossible.
The diminishing forest cover affects the life-forms and also carbon storage and oxygen production which
might speed-up the global warming process, and so researchers and policymakers encourage afforestation
programmes in order to mitigate the global warming,.

26. 7@ e A0y SR F AR et IO S T YRy HRUd TRd 2

(a) AREEEA ST (b) Sl ST SEeTE
() wErEe sEm (d)y uTEET el Grgen —
Tt S

(1) ®R (@ &(b) (2 PR@FQ @) FHWOIQ (4 (b)) ()

Which of the following two conditions are specially responsible for the emission of greenhouse

gases ?
(a)  Automobile industries {(b) Rangeland Management
(¢) Chemical Industries (d) Rainwater harvesting

Answer options :

(1)  Only (a) and (b) (2) Only (a) and {(c) (3) Only (b) and (d} (4) Only (b} and (¢

TR NS ST / SPACE FOR ROUGH WORK



X18 19 A
27, ' uftE A" wath wela TR fauaite 2 g o e

(a) ‘rfifE an " fafay B e (species) A Tafawitg aftfedien wER whraA fAfda et

eI

(by ' AEffE A TR AN T A SEEEeEIe! SRR/ SEEER SR

() “mfiE a1’ w i E S e Soe FH AT S R,

(d) “FEfie a9 g4 AT el SugEd AR,

Tt I

(1) HFH (@) F () () WHBFA() B BR@IT() (@) FH()FA)

Regarding “Natural Forests” four statements are made of which two are correct. Choose the
correct option.

(a) “Natural Forests” are formed due to interaction of species and environmental conditions.
(by  “Natural Forests” are responsible for floods and cyclones.

{c)  “Natural Forests” play important role in minimizing emission of greenhouse gases in
Atmosphere.

(d)  “Natural Forests” are important for promotion of tree cutting.
Answer options :

(1) Only (a) and (b) (2) Only (b) and (¢} (3) Only (a) and (c) (4) Only (c) and (d)

28, WA Faedl YELET GAaE qort AT waTd g/ sttese ffd s ?

(a) omERfcEE S/ (by  TTE AT T
() TEEE SEl /E (dy  wEERAS Shel/gh
wEtat 39y

(1) FR@abH) @) FREFAC (@) BRI @) T (b) ()

Among the following which type of forest contribute comparatively more production of oxygen ?
(a) Tropical Forests (b)  Savannah Grassland

(c) Mountain Forests (d)  Temperate Forests

Answer options :

(I}  Only (a) and (b) (2) Only (b) and (c) (3) Only (c) and (d) (4) Only (b) and (d)

el BTG A1 / SPACE FOR ROUGH WORK P.T.0.




X18 20 A
29, TUEH URETEEA e YUSFHIT AR d1F A Giierish! A g fHas

(a) FERTW HTO T FHHL IUhH

(b)  SATEnfTE digqml SdsmE qeu

(c) & e o=t ae

(d) SeprERTiR e s Yo

T 3

(1) ")) (2 HROF() (@) PR()E() (@) WK () F(d)

How the carbon sequestration potential of terrestrial ecosystem can be in increased. Choose correct
options among the following.

(a) Planting of trees and Afforestation activities.
(b) Release of industrial wastes in river streams.
(c) Increase in greenhouse gases.

(d) Protecting illegal cutting of trees in forests.
Answer options :

(I}  Only (a) and (b) (2) Only (b) and (¢) (3) Only (c) and (d) (4) Only (a) and (d)

30, SIHEUG (F) F R w6 JudeRiol (TERET) e gdesd et s

(a) & HERUTE A (b) SETErErE

(¢) FHUYO IuHH (d) wAraEHHET wE

a9

(1) K (a) 9 (b) (2)  ®& (b) 7 (d)

(3) K (a) T (c) (4) v (b) 3 (c)

Carbon sequestration potential of forests and oceans has been decreased due to :
(a) Increase in forest cover (b)  Deforestation

(c) Plantation Programme {d) Anthropogenic activities

Answer options :
{1) Only (a} and (b) (2) Only (b) and (d)
(3)  Only {a) and (c) (4) Only (b) and (c)
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G I G U9 s 51§ U9 oRATeR 35 & 39 AT ¢

Hfaarrean 9y i1 $(Ta geryd AR T 4201 [ omRd. Jeiyd AR TRl B fafed
FooTel 3T, SAUEET AT S g (il e wiveel seRen A SUER AR I
e’ I RTINS Wad HiGHEE o 21A $E, Al Uk HHRETS AUHER A, 14 TEadd=
TEHE T 86 T GE] ST ad WEl W HEel FUAId aTell,  SATMEIeR WS HeNe STeTes Ifiuie
B 1 Ao Al faoer aa, fa= smfaes antn snfide ueays smera snfon fasmrsn fa= waat
sifeear ermorea, T wrEl gei fas yfaee anfor 29 Sishiel 1, TR TeTeEed=a] TaaramAT 379
TR TGt afqafid &voer=n g7 [0/ Hae. a1 Hea ol gaE1 AT el il AEvds 3T, 9
SN THRICHE ATHRE FZ-Teres Jfiahas hed wm@e g6,

THIAZT AN FIFT FAATH el S0 T (HTesdrd. el faeh, THEEr= geaeiss Ta 2 Al
YT FeRl WA B STEA. B e, 30 eI Sl Wifest <Rl e e e ST el aifest
30T TAHEN FHISTEAT T 90 FATEE ! = 90 TR el e, SR Shed daaEt W | e, &
UF ol fRerdl aTe. SHSToT S, T Waw FH oiEel ST Tohd ATal, ShRUf HehTes- T3, S0 WiFek TOHe
el 3T =710 Tifesll T & ek W@ T 2T ST, TTHed SITIEeAT WIS |90 ST Alegadt W=, €
FA9 19(1)(a) T AT 9T A A TER, FE FORE Y T HeTe FH 19(2) SA3HR STEE g,
Read the following passage and answer Questions No. 31 to Question No. 35 :

The nature of Fundamental Rights under Part ITT of the Constitution is well settled. The Fundamental
Rights are to be understood in a negative context, as in “no person could be denied such right until the
Constitution itself prescribes such limitations”. The only exception to the aforesaid formulation is
Article 21A of the Constitution, which is a positive right that requires an active effort by the concerned
Government to ensure that the Right to Education is provided to all children up to the age of 14 years as
given by the 86'" Constitutional Amendment. The positive prescription of freedom of expression will
result in different consequences which our own Constitution has not entered into. Having different
social and economic backgrounds and existing on a different scale of development, the application of
Human Rights enshrined therein have taken a different role and purpose. The framers of the Indian
Constitution werc aware of the situation of India, including the socio-economic costs of such proactive
duty and hence tock an informed decision to restrict the application of Fundamental Rights in a negative
manner. This crucial formulation is required to be respected by the Courts, which have to uphold the
Constitutional morality behind utilization of such negative prescriptions.

Law and Technology seldom mix like oil and water. There is a consistent criticism that the development
of technology is not met by equivalent movement in the Law. In this context, we need to note that the Law
should imbibe the technological development and accordingly mould its rules so as to cater to the needs of
society. Non recognition of technology within the sphere of Law is only a disservice to the inevitable. In
this light, the importance of internet cannot be underestimated, as from morning to night we are encapsulated
within the cyberspace and our most basic activities are enabled by the use of internet. Further, the internet
has gained contemporary relevance and is one of the major means of information convergence. Therefore,

the freedom of speech and expression: through the medium of internet is an integral part of Article 19(1)(a)
and accordingly, any restriction on the same must be in accordance with Article 19(2) of the Constitution.
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31.  9NaE Sfaumrar a1 7ed fyug sreere gt sifusri et 19 wret gra), SR

(1) “Rd UDHR R T {0 T 21 718l

(2) vRAW TR FAfiE WEE Uy oTR.

(3  vmam stfeaEnd o g ot enfife fafasn
(4) ST TEld SR 3239 AT FIOT QA SHHEHeS,

Human Rights as enshrined in the Part III of the Constitution of India got different meaning due
to:

{1) India is not a signatory to the UDHR.

(2) India being a country with lot of natural resources.

(3)  Diverce Socio-economic conditions prevailing in India.

{4y Presence of Largest Internet users of world found in India.

32. gl AR HEHTre Sem He fecten 2.
(1) %erd 21(A) (2) o 14(4) (3)  HAT 25(3) (4)  ®d 19(1)(a)
Right of Freedom of Expression is given under Article of the Constitution.
(1)  Art. 21(A) (2)  Art 14(4) (3) Art. 25(3) (4) Art. 19(1)(a)

33, et qaEr, fadt/wger e aRemmsd dasEE am 9 fednEa, e e, A 3
] -

(1) e st e qifeed] foemm 933 9= 3 0 2.
(2)  @ATH FHI TAID L.

(3)  HIAE A AL AT STl 208 VoA EL

(4)  USTHSA GAFIE FEER UHHT BUATd H@ 3T T

As per the Author, non-recognition of technology in the sphere of Law means :
(1)  This amounts to non-recognizing the existing reality.

(2)  This means technology is superior to law.

(3) Law and Technology cannot go together.
(

4)  Constitution does not permit the blending of technology with law.

ST BTHTATS SN / SPACE FOR ROUGH WORK




X1i8 23 A
34. YD b © IgN TR 1 ATed

(1) T &6 & HeaIeash ST Wk FIEId, ST Tl ST TR % W,

(2) IO I ehivraTal TSRl AR iE SUHN HF Thd ML

(3) R i wiguE ol ai @ amen=n Sead g hed gl

(4) HRU FI TEHTTAA HerH 19(2) =1 Ay ATl HIA AT,

Why are the Fundamental Rights mostly negative in nature ?

(1) The Fundamental Rights cannot be positive in nature, otherwise people can misuse them.

(2)  The Fundamental Rights are negative in nature, so that no foreigner can enjoy them.

(3) The Fundamental Rights are negative in nature, as the framers of the Constitution were
aware of the high costs involved.

(4)  So that Art. 19(2) of the Indian Constitution can be properly implemented.

35. R TegEeaq femman sfuer Wreiades SYaigl Seoan e 7

(1) 42 &t SeAEe]
(2) 44 o1 SRAGRE
(3) TN SAHHR € Pop Toase = T WM Elell
(4) 86 T SEAIgHL

The Right to Education was added to the Indian Constitution by which of the following ?
(1) The 42" Amendment

(2)  The 44" Amendment

(3) The Right to education was a part of the original Constitution

(4) The 86" Amendment
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T I AT W9 F. 36 § 40 T I AT

AT ST S TE] S0 1aaTs T59 A0 918 8 Y01 Jef amed. Wi o a1 fafiram wndry seawegs
NG AT T4 70 AR Thepear=an Tvaeire! st fafmeo o el s s a1,
HATSTE AT SERHAAIE! HeAT= T FId faaal, s3rdea] ISIRiet e WH Sehel Higdary sTerl o,
ik, ARTMIETE, AeRy, T, Heish], WTET WEA 0] AFee T4 smer smed enfo
e Il Afeihgrea UG U0 YA SEUIIE] TSES SHUI A . A Wi TS 9
TEZAE W ST AR, iatated, =ma w HeheT B[ GTad Bl AFA ared.
YA, F.0H. G S g A S0, Ue qemEnd QTS g qiadid 8. a1 wied 3am Siee
Yo W A SR Sl A9 R, IO S Sed el utfest fF # sifuers s SEe
4.

TFEZAGY ST UM AR ST U HIa B 0 HeTe dcdidl AN iav Fa Goas sasgTa
T T ST ai ITRTE sl HATdTd el Uies.  SISen gEen S Faihy TeaeeTiaed

Answer question No. 36 to 40 after reading the following passage.

Sixty years of constitutional democracy and the rule of law in India would scem, on the face of it,
like an occasion for taking stock and for celebranng the great Indian political experiment. The founding
fathers and mothers put a structure in place, enshrined a nation’s dreams in an impressively liberal text,
and six decades later, it appears we still abide by that vision. All around us, therc are pohhes n various
kinds of malfunction - Pakistan, Afghanistan, Bangladesh, Nepal, Sri Lanka, Mvanmar - and to our
north, a prosperous but authoritarian China. India’s Constitution makes the country an oasts of rights,
representation and justice in a desert of failing or otherwise flawed states.

It could be argued that the Constitution, as the textual blueprint of the republic, is not responsible
for its own marginalization, violation, or suspension. That it was conceived in a certain era, written in
a certain spirit, and promulgated in good faith by the best political and legal minds active in India
around the time of independence. That a document ftirst articulated and steered by the likes of
Dr. B.R. Ambedkar, Sardar Patel, Jawaharlal Nehru, Maulana Azad, Rajendra Prasad, K.M. Munshi
and Constitutional Advisor B.N. Rao, continuously guarded and carefully interpreted by three generations
of lawmakers since, is as good as it gets for an overly large, unremittingly poor, vexingly diverse, and
precariously free post-colony like India. That we may criticize the Constitution; we may lament its
disrespect or point out its inefficacy in many parts of India, but without it, we would still be colonized,
if not by the British then by undemocratic, militarist, communal or other sorts of nonprogressive strains
within the Indian pelitical spectrum.

Better to have an excellent constitution in the letter if not in practice, than no constitution at all, the
objector says. Today the Indian constitution is considered as best amongst all other constitutions. We
should be grateful for the moral commitment and practical foresight of our founders,
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36. TEd AT A T A1 Hehedrd JeleTia! 10 HeahTdl/ Tl IHEy 3% 2
(a) T FEE (b)  HEE A
(c)  ATAATE ST (d) TETHE HHIA e
Tt W
(1) K (a) ST (b) (2) R (b) ST () (3)  HH (d) (4) e (o)
The term "Rule of Law’ used in this paragraph means which of the following element/elements ?
(a)  Equality of opportunity (b}  Equal Treatment
(c)  Establishment of Courts (d)  Equal laws for all
Answer options :
(1)  Only (a) and (b} {2)  Only (b) and (d) (3) Only (d) (4) Only (c)
37, YRG! IV HehodIHed MRAA Ahvler=l WA a9l el 376 Fosmard 4 7
(a) AR (b) Wi
() HiEpfa Tger (d) =™
Tt I
(1) W (a) ST (b) (2) HH (¢) S ()
(3)  w (a), (b) =T (d) (4) =t T
Which of the following concepts can be considered as responsible for success of Indian Democratic
experiment ?
(a) Authority (b)  Representation
(¢)  Cultural Plurality (dy Justice
Answer options :
(1}  Only (a) and (b) (2)  Only {(¢) and (d)
(3)  Only (a), (b) and (d) (4)  All of the above
38.

THIME] Higehesrd STeten Ukl =i YH= UM HIUATHIS] SOl W68 AT el 378 ?
(1) e (2) HeEH (3) AT (4) ST
Which word has been used to describe the land of nations where democracy is failed ?

(1) Desert (2) Qasis (3)  Garden (4)  Anarchy
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39, EIcTUehl SHIOTH HZehi= TERIMET STHII RIS HHEY Shedl S1e Aehal 7

(a) eI (b) ST

(c)  stfereRreamel (d) TR TSR

i I

(1) +H (a) (2) W (b) MU () (3) T (a) I (c) (4) SHICTRT Tl

Which of the following can be considered as challenges to democracy ?
(a) Communalism (b}  Feudalism

{¢)  Authoritarianism (d) Supression by Military
Answer options :

(1) Only (a) (2)  Only (b) and (c) (3) Only (a) and (c) (4) All of the above

40, WH AR T T TASH 1 AR 7
(1) ToEETS TETehio s,
(2) Tt e+

(3) TSHHIAER Fehl .

(4) T v HENTEd #,

What is the main intention of this presented paragraph ?
(1) To glorify the Constitution.

(2) To Condemn the Constitution.

(3) To criticise the Constitution

{(4) To highlight the importance of Constitution
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A AT AT AR W9 %, 41 45 =it 39 fan

FAFAA e AT o R0 Tk ova Iaw, == @ fmbo Setea swoen snfashred
Saerdl et A, S8 WU, Uhel S W Aven il faeme, gl oTaet siei o forda At 2
AR I B e, gy IY ATeAl HEAA W gE 1 A g 912" SAredl AifecaHA e Wiel
Werel ARSI HE A e ey o), 3 fagd A

Mo Fereidiel Temaar onfr kiR AT AT Sereieal AaEY T aror s fawam
femme feredes stethe fedenis am amed famveEniia fafire dwuier 379 sicfaard Sueaen 3Teedl T
HIfaRe SHaT T TG el 1R, The A Ura aui=y alal & Jedl =1 B Fal Jrcish STI0H
LATTEFM T fag arae! ot sielhedl TRl SIS @I hell. T B S STehed wigSEet
Fred ST el 5 Weael, Wiend ATHsR] o, ¢ Wiest Heid el wel e @), Fed 1 gen 27

sy N0 PR o1 S SRl 71 9 VA fewiehlen Q¢ wHiel fomwan Tl feweie =,
TP ST IS ST RIS STEI] Sogl §g hel dogrdy Al ek A, TR HEl T el Frteten e
anfoy RS Staen e fafei=n @1 Wi wera 9 g JAEr didrar enfor st iy s amm S, wat el Ao
Feflet fom wgen 1| e e faawels e Sieeade @1 AT9ER dead aTe !

Tearhien Tt STOTE! Tk g a1 Hauid BR Pash 2. A1 Fasueivyd o fifteres wwma
TET Uaele] 3796, T4 Weaed TRl TaHRaTars g9l @ifd Jafad igesrd. ATl Hes fewehic= Ut TWyafadm
TEol AR, Uk fIrolt @ Teuid), o oA Al 79a ANl THerde Sl WU ShSeiedl STl
IR Segl TAVEH S Y Feoga adl deel TTHE d G HTeeh R THLd S S5 Wl STaL W=t
F1eT I Tedl. o W faara wreQuifowt aan fows veyE g @, e Imsask 99 9ol g
FTAE oA2q el e THHYA UM, SAcAgel, selswi=l Jd A=l Hio 598 {aem 9R giqara ™
_ﬁmnﬁwwwf@@ﬁ,aﬁw;mﬁsﬁww@ﬂawﬁ!

41. oI WG TAA @I SEATEl HRTEE! i AT 2

(37) Wit (=) wHE A 'V(aﬂ AFe fawwis () TH IO TSR
gt 39 '

1 (F) () N (2) ()G (FH) TR

(3) (3 3 (F) IR (4) () T
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42. TS O eAen=tey ferdta TwEt s -
(21) gl {47 ol Fiigeddran STl e Saa=T Fed oy T894,
(&) @wao] (09 e iecgar=n STaepRE Aned Sia= 6§89 99,
(%) e fafsrnearg S 7494,
() @il SEAT AITAE AR SIERTE ),

Tt S
(1) (=1) 3 (T) TR (2) (303 (F) FH
(3)  (F) FH @) (@) F (F) M

43. e feumie=n faauee @@ 9 ugEnddl 3NEa. Rl -
(=) wivyu=Ta=n 19
(@) I AT RISSTel WA 9

(F) Ty wymmde Afywmar 5 arm

(g) Uria FZEE arans 98 heamaudl v v

W‘hﬂEﬁi‘

(1) ()3 (F) T (2) (F) F(T) X

(3) (1) 3 (F) T @) ()3 () T
44. TeFsid=A Toeme R g FaEd shgadnd., o -

(31) g e T 9T a9

(=) «ifage=s @y,

(F) e T Flere ars Fop.

() o=y =N hSia TaTee] 2Hel 911 gd IR S,

T 99T

(1) (3 & () T (2) (3D, (), (B) T

(3) (3D, (), (F) T 4)  (F) () TR

45. AR EAT g TRATes 999 I, W -
(31) = AT TS AN GHY ST,
(&) @ HEavia THa.
(F) A TN EAAEA =Tes YET I AL

(8) @ Tmim Foren o= anfaesraelt g9 sy,
it I
(1) (30 7 (F) =W (2) (30, (F), (3) MR

(3) (30, (), (¥) 5= 4) (3D, (M), (F) AR

T HFTATS! WIRT / SPACE FOR ROUGH WORK



X18 29 A

Read the given passage and answer the questions No. 46 to 50 :

To avoid the various feolish opinions to which mankind is prone, no superhuman genius is required.
A few simple rules will keep you, not from all error, but from silly error.

If the matter is one that can be seftled by observation, make the observation yourself. Aristotle
could have avoided the mistake of thinking that women have fewer teeth than men, by the simple device
of asking Mrs. Aristotle to keep her mouth open while he counted. He did not do so because he thought
he knew. Thinking that you know when in fact you don’t is a fatal mistake, to which we are all prone.
[ believe myself that hedgehogs eat black beetles, because 1 have been told that they do; but if I were
writing a book on the habits of hedgehogs, [ should not commit myself until I had seen one enjoying this
unappetizing diet. Aristotle, however, was less cautious. Ancient and medieval authors knew all about
unicorns and salamanders; not ene of them thought it necessary to avoid dogmatic statements about
them because he had never seen one of them.

Many matters, however, are less easily brought to the test of experience. 1f, like most of mankind,
vou have passionate convictions on many such matters, there are ways in which you can make yourself
aware of your own bias. If an opinion contrary to your own makes you angry, that is a sign that you are
subconsciously aware of having no good reason for thinking as you do. If someone maintains that two
and two are five, or that Iceland is on the equator, you feel pity rather than anger, unless you know so
little of arithmetic or geography that his opinion shakes your own contrary conviction. The most savage
conbroversies are those about matters as to which there is no good evidence either way. Persecution is
used in theology, not in arithmetic, because in arithmetic there is knowledge, but in theology there is
ondy opinion. So whenever you find yourself getting angry about a difference of opinion, be on your
guard; you will probably find, on examination, that your belief is going beyond what the evidence
warrants.

A good way of riding yourself of certain kinds of dogmatism is to become aware of opinions held
in social circles different from your own. When I was young, I lived much outside my own country in
France, Germany, Italy, and the United States. I found this very profitable in diminishing the intensity
of insular prejudice. If you cannot travel, seek out people with whom you disagree, and read a newspaper
belonging to a party that is not yours. If the people and the newspaper seem mad, perverse, and wicked,
remind yourself that you seem so to them. In this opinion both parties may be right, but they cannot
both be wrong. This reflection should generate a certain caution.

46. Choose the correct option/s :
We can avoeid feolish opinions by
{a} way of observation.
(b} avoiding fatal mistakes.
(¢) checking whether an opposite opinion makes us angry.
{d) by acquainting ourselves of opinions held in different social circles.
Answer options :

1) @and () Q) @and(@) @) (@) @and(d) ¢) (b) () and ()

Heed] BTHTHIG S / SPACE FOR ROUGH WORK P.T.O.
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47.

48.

49.

30

The writer mentions arithmetic and geography because

(@)
b)

we should know both subjects to avoid foolish opinions.

d) he is expert in these two subjects.

Answer options :

these subjects contain many foolish opinions and unnecessary argument.

(
(¢) the two opinions he mentioned earlier have to do with these subjects.
(

(1) (Mand @ () () only () @and(®) & () and ()
Match the following :
A B

(a) inherently (i)  unreasonable dislike or preference
(b) dogmatism (1) cruelty
() persecution (i) narrow minded
(d)  prejudice {iv) by its very naturc
(&) insular (v) authoritarianism
Answer options :

(a) (b} (9 (d) (e}
1 v @ @ @ (@
) @ v (v G ()
() @) v @@ v [
@ @ @ @ v (V)

Which of the statements are true in the context of the given passage ?

(a) tledgehogs do not eat black beetles.

(b)  Women have fewer teeth than men.

{c)  Dogmatism is a good thing,.

{dy The writer lived outside his own country.

(e)  One should keep onesclf away from prejudices.

Answer options :

)

{a), (b) and (d) (2) (d) and (e) (3)  (a) and (d) (4) (¢}, (d) and (e)

GT] BIATATS! ST / SPACE FOR ROUGH WORK
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50. According to the writer
(@) Intellectuals do not commit mistakes.
(b)  Mankind is inclined to comumit mistakes.
(¢}  Mankind is prone to avoid foolish opinions.
(d) Theology contains only opinjon.
(e) Knowledge is different from opinion.

Answer options :

1) @ (@©and (&) @) O (©and (@ () © (@and(e @ (b) (d)and (e

51. 5 T3 24107 3 afguiitent 1 & Snin 2 urs o790 o9 et TiFdl R SUE=l 8. J &Rdl e
YT FAT TS TR ?

1) 30 2) 25 (3) 20 4) 15

Out of 5 Brothers and 3 sisters, a committee of 3 members consisting of 1 sister and 2 brothers is to
be formed. In how many different ways can it be done ?

(1) 30 (2) 25 (3) 20 (4) 15

52. FfFam Ao wiaere Wed FI0ATErE) Uik FHaumme) hivd SRARHe FHA1 ST Sl ?
(1) ToeAn a7 391 (2) feg-zt-fag
(3) SR 30T e (4)  qa enfur ferswan

Which organizational pattern is often used in persuasive essays to present arguments and counter
arguments ?

(1) Problem and solution {2)  Point-by-point

(3} Cause and effect {(4) Compare and contrast
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53, SIS GHITEE A=A IO sqen ST U=0, A ehE vl qia SIS SHerdt
K T B AR HEel S 2021 T TEE fqETiige A HaEd Al AR, A a1 IR
SHAfeA Sitamra werEnar s 353 W= HHIHmET= SET Ao, SHENE A0 SHESE WS TEE
SEA T 0 ST ATenRT W SHad FIM AR, TR S0 WA e W5 SR Wg A E
T Wi 8 A T2 aaR A, fhded Jed fhel g8 F 3fAE ot weur 12 am|
GEWAN H&A galidl ATCHT @IFUA= T hiard.

el qiEserE! data 3 wedad Heq Yt TR Heel.

(1) HhUHF HAMYIHes Sl Sa= & HId o TROTH AG=RT0 SiTd 3= el 2
SAYEAR H3e2 HoT 9 9Hes a1 U0l HASHISAS o= 9 fawqd && 8 i
SICHYT =] shied = e gadn.

(2)  WEd S USHAATH qHISG FHAHE WiEE [ U, SESEreTidA sqlw HHEE Gt
IO, THEed THIE & SaUT1 B0 AT 2198 .

(3) oAl HFIN T YA fawian wmoarea Hd aral send i o SauEed aaieTo
EIIGIE

(4) WL 3T WIgE dgciea =41 SAUaHTHa TohRIcHE ST Sau=l ST Wadiehtol
7.

A Harvard University study of 2021 found that positive empathy propelled kind acts towards
others, including being helpful and cooperative. It fostered resilience and a high degree of satisfaction
in their daily lives. While the benefits of empathy derived joy are enormous, it is hard to practice.
Jealousy and greed arc enemies of happiness and we are surrounded by people who enjoy the
suffering of others. On many occasions, negative feelings about the other may lead to social and
professional bonding amongst peer group, such as amongst cricket fans or soldiers waging war.
This poisons our social life. Lack of empathy drive individuals to lower the self-esteem of others
through social media.

=

—

Select the most appropriate central idea of above paragraph from given options.

(1) Persons perform kind acts due to positive empathy and consequently experience high levels
of happiness while living flexibly on the contrary jealousy and greed drive individuals to
enjoy life by poisoning lives and eroding self-esteem of others through social media.

(2)  Most of the people become happy by watching persons suffering the pain by spreading negative
emotions in the society and the material through social media that erodes self-esteem of
others.

(3)  Individuals will be kind toward others only if schools provide them with opportunities to
develop their own empathy.

(4)  Asaresult of negative behaviour of persons engulfed in jealousy and greed towards others,
self-esteem of others is lowered.

HERT HHTATS! W / SPACE FOR ROUGH WORK
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54. SIERMEA Hiddi=al AeeaT= HHEel Saiad Fa Seied faawid W g g el @ fafire gt
TS IETAUATE el 37, 1 o feaemd] 250 ¥9; 2 =1 feaamEiel 310 ¥99; 3 1 feaamndl 370 398
1 YHO, ST SHSRIA 6960 TIH T WA SE T W HHTE Shered faae fgag el

1 10 @) 11 3) 12 4) 13

A contract related to cleaning debris around the construction work, specifies penalty in completion
of work beyond certain days as follows : ¥ 250 for 1% day; ¥ 310 for 279 day; ¥ 370 for the 3 day

and so on. If the contractor pays the fine amount ¥ 6960 then select the number days he delayed
the work.

(1) 10 2) 11 3) 12 (4) 13

55. TUTe oat SAEERH GGl HaH HiA 9 7y JgHE = =i e 3 g el U, eaden
were, FE, Torell, stidn, agm, el i e § WG Suasy $led. Al 939 @ el i 7y
Sfehele T il HGBRIA T TR

T ST STl SiSde gad HHATe (Hagten ey STieien ifys sem e e Has.
(1) 4 2 5 @) o6 4y 7

Whenever Meena and Madhu buy ice creams from the local stall, they both always choose one
scoop of each of two different flavours. The flavours available on stall are chocolate, coffee, lichi,
mango, almond, strawberry, and vanilla. Meena does not eat almond and Madhu does not eat
chocolate or coffee ice cream.

Select number of more combinations that Meena can choose than those of Madhu.

(1 4 (2 5 (3 6 4) 7

56. WY w9
é 147+§\/19 L%\/%

(1) 55 2y 35 © N 4) 643

Simplif, :

; J147 + %Jl_ﬁ - %\/7‘5‘

1 55 2) 35 G) 747 4) 63
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57. S+ WUS -, WUN X+ U 4 T xRN+, W

25x5+7-44+9=7

25
(1) 39 2) 24 (3) -35 4 35
If '+ means " —', —~ " means " x’, "+ means '+’ and ' X’ means "+, then
25x5+7—-44+9= 7

25
(1) 239 (2) 24 (3) =35 {4) 39

58. U Gedl THUAK T UIETN. 10 TF SO0 2 ¥t 9 & 945 B aX HEordl v fohdl 319 ?

(1) T 4800 (2) X 4700 (3) <4500 (4) T 4900

What is the principal amount, if the amount of compound interest on it at 10% p.c.p.a. for 2 years
isT 9457

(1) T 4800 (2) T 4700 (3) T 4500 (4) T 4900

59. feoien ampy=mmEn A o1et e
‘g it W Em g
(1) o (2) dETW (3) JreRI AW (4) T
Choose the correct meaning of the given idiom.

“To pick a bone with one”

(1) To learn (2) Toblame (3) To criticise (4) Todie

Bl BATATS! W / SPACE FOR ROUGH WORK
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60 viem A | ST
2ATTH ITeld TIET 65 40
el e 40 12

UshT= avTdtel g9 wresrdier fammedt Ter=n ifam wmer enfo foemdie geet e fee |eaen R
fact amed. ¥ foel 9o TEidiel S= 90T T o Tt Seehaile TR ST shed ST
AT T A=A AT 2R SR Saa A TEH AR,

o Wifedtal 24 goaaEl fa= 9 Feft
(a)  3ifam oo Ter=n I ket Ta FE Jvand A HEaRer S I9e qeiad =i
ESIES

(by Tz qddmnet fomneata T #ivan e 3=, FMerd TRIaeemT=a gerd 9 7%,
A HRviTdter foe= foveraara Treisio] som/d areys feel

(1) 7 (@) S (b) (2)  (a) W T (b) A A
(3) ¥ (a) (4) W (b)

Schools Dnyandeep | Anjuman

SEE 65 40

Degree 40 12

The examination results of groups of pupils from the same year from two schools in their end-of-
school exams and their university degree are given in accompanying table. Results are expressed
as percentages of each group achieving the top grades. Dnyandeep College has significantly smaller
class sizes than Anjuman Higher.

Two newspapers made different comments on this report :

(@)  Dnvadeep College is better than Anjuman Higher at teaching to achieve good results in the
end-of-schools exams.

(b)  Anjuman Higher prepares pupils better than Dnyandeep College for university education.
Select the comment/s that serve/s as plausible explanation of the data in the table.

(1)  Both (a) and (b) {2)  Neither (a) nor (b)

(3)  Only (a) {(4) Only (b)

61. “The end of the story” =1 faummes “of” & fefem = ?

(1) (2) TR

(3) F® (4) Hay fahan Se

In the phrase “The end of the story”. What does “of” indicate ?

(1) Possession (2) Location

(3)  Time (4) Relationship or connection
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62. ‘'THIATH FHA Araea W AT W qHe gUnd.! wiefterisl wivd faue we sEea,
T AT TSR THH Fie ?

(1) 3NIENA 3 fGEA 3Tl 318 & S A AEquol Heafe w7 S @i Tergy o=
AFUAHE S T fHesra.

(2) wIEurTH Wi sTal wfed T ST afiftud oae e s o il faun
HIET AT,

(3) S I HIcUTeh e ArEad eeAhs { AruAeA getd S IS HuE STl

(4) HICATE FY TGAHE DT STHHLT Lol A S ARAfadh Stadwde 9 Haft Tem.

“Reading fiction improves empathy and social understanding.” Which of the following statements,

if true, would most strongly support the claim above.
(1)  Studies have shown that individuals who read fiction regularly have high scores on tests

measuring empathy.

(2)  Fictional Literature often contains complex characters and situations that require readers to
consider multiple perspectives.

(3)  People who read fiction tend to have larger vocabularies compared to those who do not.

(4)  Fictional stories are often set in imaginative worlds that are unrelated to real-life experiences.

63. ST Hfed ge Hode S TR ?
T FUEEQ, o 9edt fuariren eeue 1ya mefae.
(1) faen foam arseE e,
(2) TR TE I H30 R,
(3) I qEe SAeHIcHe 2.
(4)  TEIIMS T W Era.

What is the main idea in the sentence ?

” After hours of practice, she finally mastered the piano piece”
1)  She enjoys playing the piano
) Practising the piano is difficult
3)  The piano piece was challenging
)

Dedication leads to mastery
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64, HE THCICT Ve e

=T Hes; Tiear, FeaE; 2

(1) g (2) Hg@Er (3) e (4) HTees

Choose the similar word :

Chandrapur; Dhule; Gondia; Jalgaon; ___?
(1} Nagpur (2) Nandurbar  (3) Nashik (4) Bhusaval

65. feorean wrasyTdel w9 feemast Savamet stea wfam faen
.j'.'- ' . ! ? 3 -
/S

(5
ok o

@ L ) ’

Select the appropriate image for replacing the question mark in given relationship.

A
+ |
(3) g (4) 0+

el HTATATS! ST / SPACE FOR ROUGH WORK P.T.O.
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66. T& 209 1995 TS AHER T4, 3 Fregsl 1994 =7 feaw o 2@ ?

(1) Taar (2)  HTHER (3) TEAR (4)  yHAR
Monday falls on 20" March, 1995, What was the day of 3"! November, 1994 ?
(1} Sunday (2) Tuesday (3)  Thursday (4) Friday

67. 9 UF Fal & Mt (a) T (b) & Hara 9o feoll omea. et qol FRoargyiE S vaie el

39, 9, 1 oTio ] U v el o gelien e TR T dedl vEdten gEan el TR 99

(a) TR S g, = A fawe amfor = Sl =i awEt S,

(b) W& fSFvA vEd duad! dee 37, w9 T A greeed sfatE SEd g e " e A

i R

(1) TEATR U FT98T Fdl G0 FLA T8 T e S A 9% A IO R HOR AR

(2) TR T8 Ued ATYEA Fl Y01 H Ted TG G610l U] Uehd A9 arged o1 Ll TR A
(3) T wa PR U a9 AiGE ol TEF AL T,

(4) 2=l aed TR faan e Sl gul Al A AL

Given below is an action and related facts (a) and (b) are following it. Select the appropriate
option with respect to completion of this action.

4

Anu, Chunu, Kanu and Ninu ran a race. All children start from the same line simultancously.
Using following facts select the person who won the race.
) (a) Twice the speed of Chunu, thrice the speed of Anu and four times speed of Ninu are equal.

——

(b)  When winner finished the race the average of the distances ran by Anu, Kanu and Ninu
equalled the average distance ran by Anu and Kanu.

Answer options :

(1)  The activity can be completed using one of the fact alone but cannot be completed by using
other fact alone.

(2)  The activity can be done by using both the facts together but cannot be done by using cither
of the facts alone.

(3)  The activity can be accomplished by using either of the facts alone.

(4)  The activity cannot be completed by using both the facts together.
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68. 3,4,7,8,991 sehi=ql HeRAH FIVAE G b=l [T = Hlal Fhdl 2 3797 Hem sedr e ?
(1) 30 2) 31 (3) 25 4) 20

How many 2 digit numbers can be formed with the digits 3, 4, 7, 8, 9 if none of the digits is being
repeated in any of the numbers so formed ?"

1 30 @) 31 (3) 25 4) 20

69. A, B3 C 3 fagi=m daEn 5000, 2 -3 : 5 9 THURG dedd @ C 1 Jiearl Tohdl 599 Idrd ?

(1) T 1500 (2y T 2000 (3) ¥ 2500 (4) ¥ 3000
T 5000 has been distributed to A, B and C in the ratio 2: 3 : 5. How many ¥ comes to ‘C’ ?
(1) < 1500 (2)y T 2000 (3) ¥ 2500 (4) ¥ 3000

70. 3T MEME &F W Maren QA 1S oA’ 8 e Tedt ww 3l 39 9= e

(a) IS AT & FE WS ey 1S .

(by SRl W e Tatd R AL

() AR T T R e R A R M e W a s,

(d) STERYd e frmt Hig T ST,

atEt I

(1) (a), (b) 2) (b} (© 3) (b)) (4) () (d)

Identify two facts that prove conclusion : ‘the area of village Aate is larger than that of village
Sate’, to be always true.

Facts :

(@) The area of village Pate is larger than that of village Wate.

(b) Sate is not the village smallest with respect to area.

(c) Pate would have been largest with respect to area had it not been for Nate.
(d) Area wise, village Aate, is the third largest.

Answer options :

1 (@), (b) 2y (b) (0 @) (b, (d) CRNCAC)
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71.

W T T4 A A GO GYiatedT TSI TR S B A GO ST FEIHISTEes i .
e i Tl 9T 100 ™. S 3R, e HTAER S ST Tedl g Sl snesd T df
Tafa T i qnt fHasd.

1 2 (2) 3 (3) 4 (4) 5

A

Era lives in a certain village near the junction marked ‘A" and works at the junction marked ‘B’.
All road sections in this village are 100 m long. Era likes to vary her walk to work, but always
walks the shortest possible distance.

Select the number of different routes that she can take.
1 2 (2) 3 (3) 4 (4) 5

72. (U HEHAT V&G A hede Haar giad & ?
(1) s¥Magaa@  (2) g (3) = =fafE (4) oA
Which transition word suggests a continuation of the previous idea ?

(1) Nevertheless (2) Consequently ({3) Additionally (4) In conclusion

73. YT THRHE SLEN 5% a1gd. S G AmaeA 9261 ST T 3 auiEtl dlsen
Br.
(1) 5700 (2) 6000 (3) 7500 (4) 8000

The population of a town increases by 5% every year. If the present population is 9261 then the
population 3 years ago was

(1) 5700 (2) 6000 3) 7500 (4) 8000
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74. ftheRd SA, I S0 e AT S GER 5000-6000 FRIE TE T, T RS, ToT 0 5w &
a1 A9 T WA A A aRa e wed WL A1 weedierEn e fueE sRaie
TEREA C3 T2 Taehi=a goid *C4’ TV Sasded] S F9eddi =0 12riiel o o7 1 T&d:9 500 9
Sohia Wl emed. C4 TreRidia TEfee el oo severgEa T U A WeRIeTHYCTuIgt e
FIAAE, TR - A= dr Uihad o1 hialel THed A, I S B fehall WerdT=l T THe. Ihial
TR THesretett T = Ul S §ecies T, 3o aHETd SUarEl &76dl & Ar=amehe SEH
T AT TAUN AR, GERTeelwl FId] SV T&a: ™ Siewsh TaAE sed O3 fusien gaqa o

e WA e Oifediaed Feae fovasHa ferd 3 ot faum fraer

(1) T8 21T Aiges A= IS FHI FHT0T e &1 wR ot FrG) {0 W0 3enfed shefl S

(2) S @ WiE " S HHEY F e o @ = fawiug s e dvdd we
fiepi=l SHarmifaa ICqed Arean] FEAGUR SR T,

(3) Teorel we fawil Aftres T S e ST 9@ Hedied B YgUU e T8, HHI

(4) TS Ty AT A J9ER ST Sedl e, Wit AshEteA € S W, S s

Domestication of sorghum, pearl and finger millets started in Africa some 5000-6000 years ago
while kodo, little and barnyard millets originated here and are called the heritage crops of India.
When compared to C3 crops like wheat and rice, over these millennia millet physiology evolved to
become climate resilient, covering biotic and abiotic stress. Millets belong to the group of plants
termed “C4” crops that are evolved on their own 500 times. Their mesophyll cells and bundle
sheath cells make them photosynthetically efficient. They don’t have any photo-respiratory loss.
Millets don’t require much ferfiliser or rainfall. One or two irrigations are enough for them. Evolution -
also added to their pollen fertility and reproductive structure, the ability to withstand high
temperatures and they have a mechanism called rapid drought escape. As scon as they sense the
possibility of drought, they quicken their life cycle giving better yield compared to C3 crops.
Travelling successfully through time, millets have innate nutritional qualities.

Select one of the following statements that can serve as the most reliable conclusion drawn from

the above information.

(1) It is not possible to decrease production of wheat and rice as they are produced as cash
CTOpS.

(2)  Unless people are ready to add millets to their food and develop taste for them increasing
millet production commercially will not be profitable.

(3) Considering the given characteristics of millet crops, increasing their production will cause
less pollution, farmers can grow them with less investment and their nutritional value will
take care of food security.

(4)  Gluten in wheat is useful for making tasty foed which is enjoyed by large population, they
are accustomed to it and one’s eating habits are difficult to change therefore increasing millet
production will not be profitable.
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75. Us UUH quifae TEcieal T goiarar uifer il 9eneht Shefl. ATel Werl A9 ere] gt | sherueT
OIS ¢ STUHl fHae

At TIT ITUAY FHe,

faferan ToT ROy TR

Egll ElsRCII e

1k o A,

T Iy

1y == (2) faferm (3) et (4) d@rf

Five suspects, one of whom is the guilty party, are being interrogated by the police.
Select the culpnt if just three of the following always speak truth.

Ali : Dev Committed the offence.

Cynthia Ela is innocent.

Ela : Banu is telling the truth.

Banu : It wasn't me.

Dev : Al is lying when he accuses me.

Answer opftions :

(1) Ela (2)  Cynthia (3) Al (4) Banu

Decision making and problem solving questions No. 76 to 80 :

76. 2030 TSIE! 1% HLUAIEIST WA Toehiy WHUEIE] A g1 AEerE ueeh oTe,  nvad fHer serarted
FogTen feer uw ueagnl yeshR wfae qaciaET JEe gan A i U e feg Ty
freraat et Hfga Lo Teli7 1T &) S (59N w &R,

Tereer foeror srforenrl o gl

(1) FdH FIesharErd] sy i g Mz sl e, wask snfon faeneatell weemaer
TS

(2) vatEriE fewrmren danet Gifaa fram wrh enfn g fawiaa s,

)
(3) T stamEy faada sivamnat foegenn el fesgvaren dion= gfeem =,
(4) HFARFHE] oA svawid [ R e,

Education is a key factor for achieving sustainable development in order to achieve 2030 Agenda.

A signification initiative towards integrating sustainable education should come from local level.

In accordance a school district is considering implementing a new curriculum focussed on

environmental sustainability.

As a District Educational Authority you will :

(1)  Consult with educators, parents and students to gather feedback for new curriculum.

{2) Develop teaching materials and resources aligned with the principles of environmental
sustainability.

(3)  Train teachers on effective instructional strategies for delivering the New Curriculum.

(4)  Generate funds for designing the curriculum.
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77. AR HRHdel MHERgUETEd A G ST Saal TRlell qagedreAl SR HIR Se S,
ST oA qiehe Heegrarnadl i = sEaH quel Ua (i el el qead o] Ju=s
YT IERT A A AHEAT HTHN Sard 1 S Svitadt we foell. sao fxem arogrE dend
A I T T4 ST Yoo UM Aifedl 18! a19 qicll S9ad sneel. g ...

(1) =0 F2ae Ter e goam Ras gEa A fSeri Ham e e e
FAE.

(2) fovarrs wrrern FufitE g FHm S moaTe e SadarEstTE W d93y g
AT SO Yol AR GaE S AHTIRA SHaIEre! e .

- (3) ARmudE 98 A\ies § HEE Sesrdiedn ToeEeed S STEE] St @i quEar HrE
RFUErE 3UshAld TN SR Te9T hed BTG Sfde | Te Heuesid d s
] JIN FHA.

(4) ToOoamEra qoamEr REs] FOT SerEdi= A e SaHA Sed © 9w Wied sTHeas
HIETE TEARCHSE IS TR =01 FIETINT 2718 § Tald e e e,

While studying footprints in the context of water resources, unfortunately you suffered kidney
stone pain. A friend of yours came to wish you a speedy recovery while you were resting for
regaining your strength. He not only informed you about your kidney problem in detail but also
made vou aware of the fact that many villages face this problem due to lack of potable drinking
water supply. You are surprised that after studying water for so long you do not know the root
cause of your own illness. You will ...

(1)  think about migrating to any other place where you are sure to get potable water supply to
your family.

(2)  continue your study for conserving potable natural and manmade water bodies and work
for saving people at large from kidney stone suffering.

3)  build up teams of global and local researchers and activists for conducting research related
p ) &
to quality and conservation of all natural 'and manmade water bodies in the area, and seek
participation of local pecople in conservation prograrmmes.

(4) remain neutral as you are aware of the fact that people care least for conserving water
bodies that supply potable water, it is difficult to lead them for any constructive work.
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78, qEEA T S Tiu) afreared 1) reten d Herr ShvarE TMIfEd shid STed. S qreTell = Hied S
FEE AT @ SAchIEe Ha Hvara] Faedl TEA - 9l S99 378 9 95 S i ?

(1) i Az R W S AR weewE wen < fuvar wAE el 3.
(2) <% fumarg F6r <34,

(3) whad g oA B A wUH S99 S

(4) TR ST SO0 AT G FIetdd i JRTen dharal e 7%,

Your friends like drinking alcohol and influence you to do the same. If you don’t want to go with
them and to keep yourself away from the habit of drinking alcohol, what would you do ?

(1) Twill tell my friends that my parents have forbidden me to drink alcohol.
(2)  Will Refuse to drink alcohol.
(3) Will drink alcohol only because your friends are drinking.

(4) Will refuse and lie to them that you have liver disease.

79. TR AUN FEME. U oH A AR A 90 G g ydE TR TR s el R 5
& ?

(1) el e T A A FIH S SA1FFHer .
(2) U TSTAHIST TR AL I2 T,

(3) @I HcTgA TH T o el wE,

(4) TEHE UATHIST Sdm Seied] TEmEnen T TE.

You are in a bus. The bus reaches your stop but still you have not purchased the ticket because of
heavy rush. What will you do ?

(1)  Give the money to the driver and tell him to give it to the conductor.
(2)  Jump out quickly to avoid embarrassment.
(3) Call the conductor give him the money and get the ticket.

(4) Hand the money to someone sitting nearby to give it to the conductor.
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80. eI V&0 T HaTeieh g, Tl 5N IeadUa] TaHeh! TraTo= STsr=d1 HIasti1a ATaehme
TR TR TR 3T AW . Fgad Siaerdid Feldl TG sh{uaw A S e Fong e
T A T2 AHS G2l Ao THAH UM Goial el el HAd] gk R Tl WEnfid shisd g7 32r3el
HLOATH] AR gHeh e JUTHE Jair e fodl. wmes g duell A@d a9 Arendrkd gom
T TSR Uil L WA i W Teadieiar JHEaeE JemeneEn Afes s
EEIN WfdehR A ST Tl 2l IO gTell fag & wiad YISl fa9i9 wE! For 5 18
(1) les=n Teerdid |afed shefed sPikiia fafay wemigeaar ==1 e Faiud geiidier guen T
I FA HLTATH TS ST FIOM gl Fra shoarid! Tt v 2.
(2) WERERTSH], TETAI, TV T et TR fqadeaEie Sene SiemdE $Rd SR
Rl TS ST TE0-TE0 HSaul T A61 & Tad ®H Alae=n (=R Zerd.
(3) TEETE R WERAW e UdeTias Sxdies WA oedN sfaem stansRaa i
- et aie fafears favem w7 = gueEe Seedl SEme™ Ao STeEed FEd
HTTRIE] oAt Ham HUA AIHAN Yok 2T,
4) S wws e A T faal) e R § ST . o o e A A9
wu HTFET IS VEe faan el e viaa geenfid g el W wend faeneaia
AT FE PRI Td SUAMIS] Uleis d ST A= GeumH [afeay 30sR Hiaca w3,

Being a director of educational institute you think that something is deeply wrong with today’s
public psyche that sees glory rather than horror in war. Through most of history war was indeed
glorified and the accompanying killing of innocent people and loot was ignored as collateral damage.
This world view was challenged by the European Enlightenment that promoted centrality of human
rights. This did not end wars or robbed them of patriotic sheen. Gandhian non-violence was
adopted as a moral and practical resistance to colonial tyranny during the freedom movement but
it is your regret that nothing special is being done to oppose war and establish peace. You will...

(1)  encourage students to read literature which explains the need to try to bridge the gap between
the parties concerned by discussing the various conflicts in the world that is stocked in schoo!
library.

w (2) avoid thought of peace, keeping in mind that it is not possible to develop young men and
women who are ready to join the army for the defense of the country without impressing the
stories of gallantry, war and patriotism on the minds of the children.

(3) encourage teachers to empower students to analyze the various conflicts in history courses
in the classroom and to understand the long-term effects on their society by studying authentic
historical documents with the help of up-to-date techniques.

(4) assist learners to understand the truth that, "War is not valor, but the failure of a man who
calls himself wise. For a soldier who experiences stupidity and cruelty, war ends in destruction.
Peace is not established by it" by organizing various activities continuously with the
participation of parents and teachers. .

-00o0-
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(8) wvyfras fafeq woea fafire arirg F= M (TF &%) FiE. TyrEaheAfaiem Tt a1 gal
SITEIEL o] I HOATE T BiUl FIVATA eI FO e, 3 THS IEe 9 E@HR SHEEE SIEAH SR
Fosed A SO TRHERRIA Ufaey FAEEa SHn-82" Ae TAaEE SRR RN A5 9
Al SIR( FHAHS TF gUiEE] HRETTA S0/ {591 T30 UF g9 =0 deren ey T aRe.

(9) WS TvTICERAES ATy fafea wod 9 TUeHE SHRANS! § YYARsl T aiel THaThRETael H3e
AT GTET TR, WA 9T el Suargel AN STIedl STRuiahen Y- 1 TdeidThs 9

fOETaT Ui A0t 3TTavaes 36
W. . 201. Tl = T HOAMER! FH Fead: TA hel 7
(1) @ T (2) Fvavdg fommme
(3) TS TEHEET I (4)  TidTezEo TREe

T geAT AT I (3) TSN 9IRS U9 5 AR, e W W I (3)’! e anas oo A
T h. 201 SIS ST-FEF Q)" B A oI FEilET Fed e e T,

v®w2L () O @
ST TGl W GefEdchdies Tedeh ToAT= qu=1 ST-shH & Jrlel waai el Jieaed] Iuafehade
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